R.8 Concepts and Vocabulary (page 75)

1. index 2. cuberoot 3. True 4. False

R.8 Exercises (page 75)
5.3 6.2 7.-2 8 —1 9.2v3 10.3V2 11 -2xV2 12. 2 \V3x 13 Xy y y = Moy

i . 26- 2
18. 3:2Vx 19, 6xVx 20. 104 21 15V3 22,3003 23. 12V3 24 30V6 25. 7V2 V3 21 vz 2&*5\/3
20.2v3 30. -1 + V5 3L -3 32.15V3 3. x-2Va+1 M x+ W3x +5 35 (2x — 1)Vix 3 (x +2)¢5;

V2 2V3 V15 V6
ML o4 B3 -——— LA C By W
3. (2x — 15)VZx 38 (9x + 20)\Vy 39. —(x + 5y) V2xy 40.5xy 4l 2. — 5 W 45.%
(V7 -2)V2 19485 . 9-5V3 , SVa V3 g 2t h - 2VRVE T
%6 ———— 4. -——p 8. — 9.~ 50.-—~ S p
1 1 27V2 9
+ Vx + hVx — B x =V 9 V3
5 27 ¥ - X~ s34 sa.8 55.-3 56.8 57.64 58125 59. - 60. 5 6L —5— 62 7 &
8x°/? 8y'/2 3x+2
9 f; Ix+ 1
64. 65, X266, X2 67 xy? 68, XyF 69 Xy 0. Xy TL Rz 72. n 73. Tio? 5w
65x + 6 2+ x
S G RPN S S QR ok FIPCE e ) = g-=L
(x2 + 1)1 3(x + 1) 10Vx — 5Vé4x + 3 24\/(x - 2)2‘\/(8x + 1) 210 & 58 (2 + 17
- 1 4 1 — 3x? 6x — 4x° 1
4 - x 9 87, S(Sx + 2)(x + 1

Ui van g an B e )" TR S ovaa+ 2 3(1 - )Y 2

88. l(f + 411 + 12) 89, 2x'°(3x — 4)(x +1) 90. 2x'°(10x +9) 9L (¥* + 4)'°(11x? +12) 92 2x(3x + 4 5x 4y
34 2 42x - 1
: ( ) 9%. ( )

1/3 1/2 l/3 = lﬂ —
93.(3x + 5)V32x + 3)V2(17x +27) 94 12(6x + 1)°(4x = 3)7*(5x — 1) 9§ T 0
97. (a) 15,660.4 gal (b) 390.7 gal 98. (a) 16ft/sec (b) 32ft/sec (c¢) 12 ft/sec 99, 2V27w ~ 889sec 100. V2 ~ d4dsec
101. E}[?_ ~ 091 sec 102. Eﬁ = (.64 sec

6 12




